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12 FICHA DE EXERCICIOS

1. Mostre que:

11 {z€R: |z+2| =3} ={-51}

1.2. {zeR: |z +2] <1} =[-3,—1]

1.3. {z eR: |3—z|>2} =]—00,1[U]5, +o0|

14 {zeR: 2<|z| <3} =]-3,-2[U]2,3]
15 {zeR: 3<2z-1<5}=[-3-1[U]3 ]
16. {zeR: |Jz—=3>2 AN z>0}=][0,1[U]5, +00|

[0,1]
1L7. {z€R: |z +2/<3 A :17—|—1>0}:]—1,1}
18 {zeR: 3-4dz|<1}=]i1
19. {z eR: [4z+3| > 1} =]—00,—1[U]—3,+00]

—

1.10. {z € R : |5 -3z <2} = [1,1]
111 {z € R : [5+ 3z >2} =]—o00,—1] U[-1,+00]
112. {z € R : [dz+1| >5} =]—o00, =3[ U]1, +o0]
113. {z e R : [1—4a| <5} =]-1,3]

I-

1.14. {z eR : |z +2| >3} =
1.15. {z € R : |2—5z| <3} = [-11
1.16. {r e R : 3z —4| <1} = [1,3}
1L17. {z € R : |3z +4| > 1} =
1.18. {zr € R : |22+ 3| >5} =
1.19. {r eR : |3—2z| <5} =
1.20. {zeR: [2—-3z| <1} =
1.21. {z €R : |24 32| > 1} =

|oo|>~|

e T S —Y

122, {z € R : |50 —4] <1} = [2,1]
123 {z €eR: bz +4>1} =]-o00, —1JU [-2, +o0]
1.24. {z € R : |5 -2z <1} =]2,3]

1.25. {z e R : 2z +5|>1} =

—

1.26. {z €R : [5—6z| <1} = [3,1]

127. { € R : |6z — 5| > 1} =]—o00,2[ U]1, 400
1.28. {x eR : [9—2z| <1} =]4,5]

1.29. {zx €R : |22 —9]| > 1} = |—00,4] U [5, +00]
1.30. {z € R : |4—3z| <8} =]—3,4[

1.31. { € R : [3z — 4| > 8} = |—o00,—3] U[4, +o0]

132. {zeR: [3—-4z| <7} = [-
1.33. {z eR: |4z —3|>T7}=]—
1.34. {z eR : |7T—2z| <1} =3,

1.35. {z €R : 20— 7] > 1} =]—00,3[U 4, 40|
1.36. {zr €eR : |5 —2z| <9} =]-2,7]

1.37. {z € R : |20 —5| > 9} = |—00, =2 U [7, +00|
138 {zeR: [5—3z| <1} =]3,2]

1.39. {z €R : [3z —5|>1} =]—o00,5] U[2,+00
140. {zeR: 2<3lz+1| <5} =[5, -3[U]-3, 2]
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2. Mostre que:
21. {zeR: [3-2z| > |z +2|} = ]—00, 3] U[5,+o0]
22. {zeR: |z| =]z —-2|} = {1}
23. {zeR: |z| < |z -2} =]—00,]]
24. {zeR: 22 -5|> |1 —z|} =]—00,2] U [4, +00]
25. {z €eR: |6z —5] <[l —8z|} =]—00,—2[U]2, +o0]

26. {r eR : [5—6z|> |8z — 1|} = [-2, 2]

27. {z eR: [22—9| < |1 —8z|} = |—o0, -5 [ U]1,+00]
28 {zeR: [9—2z| > |8z — 1|} = [-3,1]

29. {zeR: [3z—4| < [8—9z|} =]—00, 2] U[L, 4o00]
210. {z € R : |4 —3z| >[92 - 8|} =]2,1]

211 {x e R : |4z —3| < |7 —6x|} =]—00,1[U]2, 00|
212. {r eR : |3—4x| > |6z — 7|} =[1,2]

213. {z €R : |22 — 7| < |1 — 62|} =]—00, -3 [ U]1, 400
214. {z €R : [T —2z| > |6z — 1|} = [-2,1]

215. {z €eR : |22 —5| < |9 —4a|} =]-00,2) U [, +00]
216. {zx €eR : [5—2z] > |4z — 9|} =]2,%

217. {z € R : [3z = 5] < |1 —4a|} =]—o00, —4] U [§, +o0]
218. {z €eR : [5—3z|> |4z — 1|} =]—4, ¢

219. {z eR : 3|12 —z| < |z]} = [3,3]

2.20. {z €R : 3|z —2| > |z]} = |—o0, 3[U]3, +o0]

221. {x eR : |4z —9| > |6 — x|} = ]—00, 1] U [3, +00]
222. {reR: |9—4x| < |6 —2|} =]1,3]

223. {z eR: [3z+4]| < |z + 8|} =[-3,2]

224. {r e R : Bz +4] > |z + 8|} =]—00, =3[ U2, +o0]
225. {r eR: |bx —2| > |z +2|} =]—00,0] U[L,+00]
226. {reR: |2—-5z| < |z+2]}=]0,1]

227 {x e R : |7T—4x| < |2z + 1]} = [1,4]

228. {zr eR: |4z =7 > |2z + 1|} = ]—00, 1[U]4, +00[
229. {r eR : |bx —4]| > |z + 4|} =]—00,0] U [2, +00]
230. {z €eR : |4—5z| <|z+4|} =]0,2

23L. {zeR : |T—2z| < |z+ 1]} =[2,8]

232. {r eR: 207> |z + 1]} =]—00,2[U]8, +00[
233. {zreR: |b—2z| <|z—1]} =]2,4]

234. {z eR : [2—2| > |3+ 22|} = [-5,—1]

2.35. {z €R : [3—5z| < [Tz —6|} =]—o00,3[U]3, +o0]
2.36. {zx€R : 5z —3]> 16— Tz|} = [3,2]

237. {z €R : [3z—2| > |4—-9z|} =]3,3]

2.38. {z €R : [2—3z] < |92 — 4|} =]—o00,3] U [3,+00]
239. {r eR: |22 —5| > |4 —z|} =]—00,1[U]3, +00]
240. {r eR : |5 —2z2| < |z —4|} =1, 3]
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. Mostre que:

{reR: 4<2?<9}=]-3,-2[U]2,3|

{reR: 9< (z—1)? <25} ]—4,—2] U [4,6]

{reR: 22-1>0 A z—3<0}=]—00,—1[U]1,3]
(1€R: 22— 4<0 A z+1>0}=]-1,2]
{zeR: 22 —2r—3>0}=]-00,—1]U|[3,+o0|

{reR: 2—z—2*>0}=]-2, [

{reR: [z2 -2/ <1} =[-V3,-1] U [1,V3]

{reR: [3-2z+2%=5}={1-V3,1+V3}

{reR: [3-2z+2? <5} =]1-V3,1+V3]

{x €R: |15+ 22— 2% > 9} = ]|—00, —4] U [1 = V7, 1+ V7] U[6, +o0]
{xeR: |22 +2z— 15[ <9} =] 6—1—\/7[U]—1+\/7,4[
{zreR: |4x—3$2\>1}:]— ,z%ﬁ[u}%,l[u}z%ﬁ,—i—oo[
{zeR: [Ba?+4z| <1} = [ﬂ —1] U [—%, _Qgﬁ}
{reR: [322 =5z + 1] > 1} =]—00,0]U [£,1] U [, 400]
{reR: 322 +5z+1| <1} =]-3 -1[U]-2,0]

{reR: |2 +4z — 3| > 2} =]—00,—5[U]| -2 — V5, =2+ /5[ U]L, +00]
{(reR: B+4r—2? <2} =[-1,2— V5| U[2+V5,5]

{r eR : |22% — 52| > 3} =]—00,—1] U[1,3] U3, +o0]
{reR: |22 +5z| <3} =]-3,-3[U]-1,1]

[p€R: [14+42—32% > 1} = | 00, 20 U]0, 4 [U ]| 248, oo
(z€R: B2 +4x+1| <1} = [—2—m’_§} U [0, —2+3m}
{reR: |22 +3x—2|>2} =]—00,—4]U[-3,0] U[1, +o0]
{reR: |24+ 3z — 2% <2} =]-1,0[U]3,4]

{zreR: |22 =5z +2| > 2} =]—00,0] U[L,4] U[5, +o0|
{reR: |22 +5x+2| <2} =]-5—-4U]-1,0]

{reR: 227 =3z — 1| > 1} =]—o00,—5[U]0,3[ U]2, o0
{reR: [222+3z—1] <1} = [-2,-2] U [0, 1]

{reR: 222 +4x — 3| > 3} = ]—00, —3[U]|—2,0[ U |1, +o0]
{zr eR : |3+ 4z —22%] <3} =[-2,0] U [4, 6]

{zeR: |22 +32—7| >3} =]—00,—5] U[—4,1] U [2, 40|
{reR: |22 -3z -7 <3} =]-2,-1[U4,5]

{reR: [4—x—2% >2} =]-00,—3]U[-2,1] U2, +o0]
{zeR: |22 —z—4| <2} =]-2,-1[U]2,3|

{reR: [322 42z — 3| > 2} =]—o00,-2[U]-1,3[U]1, +o0]
{reR: |3+2x—3x2]<2}—[—1,—%]U[1,§]

{zeR: [pa?+ 40— 1 |>2} J]—o00,—1[U]—-2,0[ U]}, +o0]
{zeR: [pa? -4z -3 <i}=[-L0]U[}1]

{reR: |5x2+4x—5]24} |—o00, —2] U [-1,] UL, +oo]
{reR: [5+4z—5a2 <4} =]-1,-1[U]L{]
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. Mostre que:

{reR: |z(z—3)|=|1-3z|} ={-1,3-2v2,1,3+2V2}
{reR: |z(z—3)| > |1 —3z|} =]—00,—1[U]3 = 2v2,1[U]3 + 2v2, +o0|
{zeR: [z?+z|<|z+2|} = [;,%ﬁ]u[%&%ﬂ

freR: lo-a <lo- 41}—{7“?%}%%?%]

{r eR: [3x+4] > [2?+32]} =] -3—-V5,-2[U]-3+5,2]
{reR: [4—3z|> |3z — 2%} =]-2,3—V5[U]2,3+ V5]

{r eR : [22% — 5z| < |[bxr — 8|} = [-2,1] U [2,4]

{reR : |22% +5z| < |pz + 8|} = [-4, 2] U[-1,2]

{reR: 20 -2 <|1-22|} =]-1,2-V3[U]1,2+ V3]
{xeR: |22 +2z) < 22+ 1} =]-2—-V3,—-1[U]-2+3,1]
{r eR: |5z +4] > |42 + 52|} =]-2,-1[U]—-3,1]

{reR: |5z —4| > [42? — 52|} =]-1,3[U]L, 2]

{xeR: [3—22|> |22 — 2%} = [-V3,1] U [V3,3]

{r eR : [22+3| > |22+ 22|} = [-3,—V3] U [-1,V3]

{reR: |22 +3z| < |3z +5|} = [-5,—V5] U [-1,V5]

{zeR: [2*—3z| < |3z 5|} = [-V5,1] U [V5, 5]

{reR: [222+3z| < |3z +4|} = |-2,—V2[U]-1,V2]
{reR: 222 — 32| < |3z —4|} =] -Vv2,1[U]V2,2]

{reR: 222+ x| > |22+ 1|} = |—00, —1[U]1, +00]

{reR: |z —222 > 1 —2z]} =]—o00, 1] U {5} U1, +o0]
{reR: |32+ 2| < |3z + 1|} =[-1,1]

{reR: |z —3a2 <|1—-3zl}=]-1,5[U]3,1]

{reR: 322 +4z| > |3z + 2|} =]—00,—2] U [-1,—3] U [, +o0]
{zeR: |4z —32% > |2 —3z|} =] —00, —2[U]1,1[U]2, +o0]
{reR: 3z +1] <2J2? +2z|} =]—00, —3]U [, -] U[L, +o0]
{reR: 31—z <22z —2?|} =]—o00, —1[U]—3,2[ U]3, +o0]
{reR: 8z +z|>32z+ 1]} =]—o00, -3] U [-2, -] U [}, +0]
{reR: 8z*—z| >3]l -2z|} =]-00,—2[U]3,2[U]2, +o0
{reR: 3z +6]<|z? +4x!}—} —00, ’“m} u ’Hzm,vLoo[
{xeR: 3]6—x!<\4x—x2\}:} oo,l_g/ﬁ[u]lg/ﬁ,ﬂ)o[



